EARAROBEEIERT — 2 N— IBISH —F

201351083 (K) 14EEZHE3H

IGR 5> 3% 104 10 ¥5%3K% (xwlw | lmEmml - |5 5) wom 8
[A&4]1%:210,00F ~ 23#%:3800MH ~ 3#&:1500MH  4#%:10,000H / 5&%:0M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N FLEFRER :31. -3-3- . — HLE (BHE)
ilglg| T2/ 7702 3 2= 1(3_1)5 3-3-3-3 | 39.9 1 (4_629) U
Lexrinq4o— B:F1U—-N—=FK BN
o P FTzE :31. —1-1- . — HEE (BHE)
255 |XyPTET M= s 56.0 (11311/2% S e ? ?fg RIBERE
B2 Y E—Y BT NEXT 1T — elitie
N A SHEA . _A—d- — MTEAN (BEHE)
Sy hTrH— 4 3 A 1.(312>.o 5-4-4-4 | 40.0 5 <4+741> kﬂﬂ&g
LT RIAYAY -2 BV THITyFa BOBRKS
ZHEL . 55 _ M)
Ty 43 fé_o 1.(383).6 6-5-5-6 | 41.2 4 ;1_217) s A
LAMYILYIZ N B: 41T A REO4%5
s =7y — ANE— :33. -5-5- . - ROHEE (BHE)
YA FRIZ Y i 3 P (11 313/29) 4-5-5-5 | 41.5 8 :1;53; o
R:TF—T4FAF—2H> Bixv> RLH—EZR B 77—L4
LI R #ETE : -1-1- — SEEy (BHE)
g—TJ7 Yy — 4 3 D (11.314/.21) 1-1-1-2 | 43.0 3 (4_918) Pt
L:JZRTL8— B4 IIT— HE SRk
- . : pra. . 77~ _ WARRS (25E)
RIS 2V PE B 3 g 1(.33/:2.)3 8-7-7-7 | 41.3 6 (4_292) i
L:Urh—r BRxILAU-T KIFEBHIS
43 | RZEiZE 1:35.1 7-8-8-8 |41.9| — 7 444 | RNEE (BHE)
glglg| TNFa—Ib A53.0 (4) (+1) |SBR B
R:TSv 784K B:ovNGNE T S
N ; 3 | DOEERIE 1:36.0 9-8-9-9 |42.6| — 9 40 | REES (BEE)
9l7|7|F¥YYEN=F % 54.0 @ o) | B K=257
LT RIAYAT -2 B F—INIL BN
® I—F—@EBIERL
|S=7r= 4,5,8,2,3,6,9,1,7
Ao=5"= (4,5),8,3,(2,6),1,(7,9)
33—7— (4,5),8,3,(2,6),1,9,7
41—F— 5,4,8,3,2,6,1,9,7
[ RN
B 8 1704 794K 5-8 100M & 5-8 160 &R 3-5-8 350F
# B 8 1004 3-8 220 B E 6 1504 EE 8-5-3 710H
5 1004 3-5 330M B H 8-5 250
3 1209

ABICOVWTRDTEEERROODE. TR LIV,




